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INSTRUCTIONS 

GRADE 7-8 

1. You have 75 minutes to solve 30 multiple choice problems. For each problem, circle only

one of the proposed five choices. If you circle more than one choice, your response will be

marked as wrong.

2. Record your answers in the response form. Remember that this is the only sheet that is

marked, so make sure you have all your answers transferred here by the end of the contest.

3. The problems are arranged in three groups. A correct answer of the first 10 problems is

worth 3 points. A correct answer of problems 11 -20 is worth 4 points. A correct answer of

problems 21-30 is worth 5 points. For each incorrect answer, one point is deducted from

your score. Each unanswered question is worth 0 points. To avoid negative scores, you start

from 30 points. The maximum score possible is 150.

4. Calculators and graph paper are not permitted. You are allowed to use rough paper for draft

work.

5. The figures are not drawn to scale. They should be used only for illustration.

6. Remember, you have about 2-3 minutes for each problem; hence, if a problem appears to

be too difficult, save it for later and move on to the other problems.

7. At the end of the allotted time, please submit the response form to the contest supervisor.

Please do not forget to pick up your Certificate of Participation!

Good luck! Canadian Math Kangaroo Contest team

2017 CMKC locations: Algoma University; Bishop's University; Brandon University; Brock University; Carlton 

University; Concordia University; Concordia University of Edmonton; Coquitlam City Library; Dalhousie University; 

Evergreen Park School; F.H. Sherman Recreation & Learning Centre; GAD Elementary School; Grande Prairie 

Regional College; Humber College; Lakehead University (Orillia and Thunder Bay); Laurentian University; MacEwan 

University; Memorial University of Newfoundland; Mount Allison University; Mount Royal University; Nipissing 

University; St. Mary’s University (Calgary); St. Peter’s College; The Renert School at Royal Vista; Trent University;  

University of Alberta-Augustana Campus; University of British Columbia (Okanagan); University of Guelph; 

University of Lethbridge; University of New Brunswick; University of Prince Edward Island; University of Quebec at 

Chicoutimi; University of Quebec at Rimouski; University of Regina; University of Toronto Mississauga; University of 

Toronto Scarborough; University of Toronto St. George;  University of Windsor; The University of Western Ontario; 

University of Winnipeg; Vancouver Island University; Walter Murray Collegiate, Wilfrid Laurier University; YES 

Education Centre; York University; Yukon College. 

2017 CMKC supporters: Laurentian University; Canadian Mathematical Society; IEEE; PIMS. 
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Canadian Math Kangaroo Contest 
 
Part A: Each correct answer is worth 3 points  
 

1. What is the time 17 hours after 17:00? 
(A) 8:00  (B) 10:00 (C) 11:00 (D) 12:00 (E) 13:00 
 

2. A group of girls stands in a circle. Xena is the fourth on the left from Yana and the seventh on the right from 
Yana. How many girls are in the group? 
(A) 9 (B) 10 (C) 11 (D) 12 (E) 13 
 

3. The sum of 2017 nonnegative integers is 2016. What is the product of the numbers? 
(A) 2017  (B) 2016  (C) 1008  (D) 1  (E) 0 

 

4. The diagram shows a stripy isosceles triangle and its height. Each stripe has 
the same height. What fraction of the area of the triangle is white? 
(A) 1/2 (B) 1/3 (C) 2/3 (D) 3/4 (E) 2/5 

 

5. The diagram shows two rectangles whose sides are parallel. What is the difference between the perimeters of 
the two rectangles? 

 

(A) 12 m  (B) 16 m (C) 20 m (D) 21 m (E) 24 m 
 

6. Bob folded a piece of paper twice and then cut one hole in the folded piece of paper. When 
he unfolded the paper, he saw the arrangement shown in the diagram.  

How had Bob folded his piece of paper? 

(A)       (B)       (C)       (D)       (E)  

 

7. The sum of three different positive integers is 7. What is the product of these three integers? 
(A) 12 (B) 10 (C) 9 (D) 8 (E) 5 
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8. The diagram shows four overlapping hearts. The areas of the hearts are 1 cm2, 4 cm2, 9 cm2 and 16 cm2. What 
is the grey area? 

 
(A) 9 cm2 (B) 10 cm2 (C) 11 cm2 (D) 12 cm2 (E) 13 cm2 
 

9. There are nine houses in a row on Deer Street. At least two people live in every house. There are no two 
neighbouring houses where more than ten people live altogether. What is the maximum number of people who 
can live in the nine houses? 
(A) 96  (B) 49  (C) 48  (D) 47  (E) 46 

 

10. Yvonne has 20 dollars. Each of her four sisters has 10 dollars. How many dollars does Yvonne have to give to 
each of her sisters so that each of the five girls has the same amount of money? 
(A) 1 (B) 1.50 (C) 2 (D) 2.50 (E) 10 

 

Part B: Each correct answer is worth 4 points 

 

11. Annie the Ant started at the left end of a pole and crawled 
ଶ

ଷ
 of its length. Bob the Beetle started at the right end 

of the same pole and crawled 
ଷ

ସ
 of its length. What fraction of the length of the pole are Annie and Bob now 

apart?  

 

(A) 
ଷ

଼
 (B) 

ଵ

ଵଶ
 (C) 

ହ

଻
 (D) 

ଵ

ଶ
 (E) 

ହ

ଵଶ
 

 

12. In the diagram, the dashed line and the black path form seven equilateral triangles. The length of the dashed 
line is 20 cm. What is the length of the black path, in cm?  

 

(A) 25 (B) 30 (C) 35 (D) 40 (E) 45 
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13. Four cousins Ema, Iva, Rita and Zina are 3, 8, 12 and 14 years old, although not necessarily in that order. The 
sum of the ages of Zina and Ema is divisible by 5. The sum of the ages of Zina and Rita is also divisible by 5. 
How old is Iva?  
(A) 14 (B) 12 (C) 8 (D) 5 (E) 3 
 

14. This year in the Kangaroo Hop exactly 35% of the runners were women and there were 252 more men than 
women. How many runners were there in total? 
(A) 802 (B) 810 (C) 822 (D) 824 (E) 840 

 

15. Simon wanted to cut a long wooden stick into nine pieces of the same length. He marked the positions of the 
cuts; however, he did not have the time to cut the stick. Barbara wanted to cut the same stick into only eight 
pieces of the same length and, without seeing the marks made by Simon, marked the positions where she had 
to cut. However, she also postponed cutting the stick for later. Meanwhile Carl took the stick and cut it along 
all marks he saw.  How many pieces did Carl obtain? 
(A) 15 (B) 16 (C) 17 (D) 18 (E) 19 
 

16. Two segments, each 1 cm long, are marked on opposite sides of a square of side 8 cm. The ends of the segments 
are joined as shown in the diagram.  

 

What is the shaded area, in cm2? 
(A) 2 (B) 4 (C) 6.4    (D) 8   (E) 10 
 

17. Tycho wants to prepare a schedule for his jogging. He wants to jog exactly twice a week, and on the same days 
every week. He never wants to jog on two consecutive days. How many such schedules are possible? 
(A) 16 (B) 14    (C) 12   (D) 10   (E) 8 

 

18. If students are late for school, they are punished by detention. First late arrival means 10-minute detention, the 
second one 20 minutes after school, the third one 30 minutes, the fourth one 40 minutes etc. In winter term, 
Simon had to spend extra 9 hours and 10 minutes at school. How many times was he late? 
(A) 8     (B) 9     (C) 10      (D) 11      (E) 12 



Grade 7-8  2017 
 

 

Copyright © Canadian Math Kangaroo Contest, 2017. All rights reserved. 
This material may be reproduced only with the permission of the Canadian Math Kangaroo Contest Corporation.  Page 4 

19. In 16 years Dana will be five times older than she was four years ago. In how many years will Dana celebrate 
her 16th birthday? 
(A) 4       (B) 7        (C) 8         (D) 9      (E) 12 

 
20. Emily wants to write a number into each cell of a 3 × 3 table so that the sums of the numbers in any two cells 

that share an edge are the same. She has already written two numbers, as shown in the diagram. What is the 
sum of all the numbers in the table? 

 
(A) 18 (B) 20 (C) 21 (D) 22 (E) 23 

 
 

Part C: Each correct answer is worth 5 points 

 
21. The measures of the angles in a triangle, in degrees, are three different integers. What is the minimum 

possible sum of its smallest and largest angles? 
(A) 61° (B) 90° (C) 91° (D) 120° (E) 121° 
 

22. Buses leave the airport every 3 minutes to drive to the city centre. A car leaves the airport at the same time as 
one bus and drives to the city centre by the same route. It takes each bus 60 minutes and the car 35 minutes to 
drive from the airport to the city centre. How many buses does the car pass on its way to the centre, excluding 
the bus with which it left? 
(A) 8 (B) 9 (C) 10 (D) 11 (E) 13 

 

23. Olesia's tablecloth has a regular pattern, as shown in the diagram. What percentage of the 
tablecloth is black? 
(A) 16 (B) 24 (C) 25 (D) 32 (E) 36 

 

24. The product of three consecutive numbers is 23∙33∙7∙13. What is the sum of these three numbers? 
(A) 75          (B) 78           (C) 81           (D) 85 (E) 86 
 

25. A sequence of digits is obtained in the following way: The first two digits are 2 and 3 and each digit afterwards 
is the units’ digit of the product of the two preceding digits in the sequence. The first several digits in the 
sequence are 2, 3, 6, 8, 8, ….. What is the 2017th digit in the sequence? 
(A) 2 (B) 3 (C) 4 (D) 6 (E) 8 
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26. Mike had 125 small cubes. He glued some of them together to form a big cube with 
nine tunnels leading through the whole cube as shown in the diagram. How many of 
the small cubes did he not use? 

(A) 52 (B) 45 (C) 42 (D) 39 (E) 36 

 

 

27. How many natural numbers N have the property that among the numbers 1, 2, …., N exactly 30% are divisible 
by 3? 

(A) 0         (B) 1            (C) 2        (D) 3  (E) infinitely many 
 

28. Two runners are practicing on a 720-metre circular track. They run in opposite directions, each at a constant 
speed. The first runner needs four minutes to complete the full loop and the second runner needs five minutes. 
How many metres does the second runner travel between two consecutive meetings of the two runners? 

(A) 355 (B) 350 (C) 340 (D) 330 (E) 320 
 

29. Sarah wrote a natural number in each of the five boxes in the bottom row of the diagram. Then she wrote in 
each of the other boxes the sum of the two numbers in the boxes immediately underneath. What is the maximum 
number of odd numbers that could appear in the completed diagram? 

 

(A) 5 (B) 7 (C) 8 (D) 10 (E) 11 
 

30. The diagram shows a parallelogram ABCD with area S. The intersection point of the diagonals of the 
parallelogram is O. The point M is marked on DC. The intersection point of AM and BD is E and the intersection 

point of AC and BM is F. The sum of the areas of the triangles AED and BFC is  
ଵ

ଷ
S. What is the area of the 

quadrilateral EOFM, in terms of S? 

 

(A) 
ଵ

଺
ܵ (B) 

ଵ

଼
ܵ (C) 

ଵ

ଵ଴
ܵ (D) 

ଵ

ଵଶ
ܵ (E) 

ଵ

ଵସ
ܵ 
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1 A  B  C  D  E 11 A  B  C  D  E 21 A  B  C  D  E 

2 A  B  C  D  E 12 A  B  C  D  E 22 A  B  C  D  E 

3 A  B  C  D  E 13 A  B  C  D  E 23 A  B  C  D  E 

4 A  B  C  D  E 14 A  B  C  D  E 24 A  B  C  D  E 

5 A  B  C  D  E 15 A  B  C  D  E 25 A  B  C  D  E 

6 A  B  C  D  E 16 A  B  C  D  E 26 A  B  C  D  E 

7 A  B  C  D  E 17 A  B  C  D  E 27 A  B  C  D  E 

8 A  B  C  D  E 18 A  B  C  D  E 28 A  B  C  D  E 

9 A  B  C  D  E 19 A  B  C  D  E 29 A  B  C  D  E 

10 A  B  C  D  E 20 A  B  C  D  E 30 A  B  C  D  E 
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